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19.  The synonym of the word jubilant is
_ | (a) Intelligent
| i (b) Beautiful
(c) Funny

| H (d) Joyful

i3 \ I' The gntonym of the word timid is
' .M.ﬂlﬁ

! | (b) Coward

i | (c) Feartul

| \ | (d) . .Melanchﬂig,r

I

S 3. 1 the computer. It is all right now.
, __{ay have repaired '

ii 4 (b) has'repaired

S

(¢) was repaired
(d) am repaired

il 2

P

@- The servant always complies the wishes of his master.
(a) to .
(b) ‘with 1
(¢) in

ff&é)’/tgx;;rds

23..  Select the passive form of the sentence “The boys were playing cricket.”
(a) Cricket had been played by the boys.
(h) Cricket has been played by the boys.
(c) Cricket was played by the boys.
e {d)fﬂﬂcket was being played by the boys.

M
iy T ——
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24, 1 enjoy visiting many different countries
anywhere else but India.

| )/hm:’l
| (b) but
(c) or

(d)

I wouldn't want to live

@ A bomb scare a delay of the flight.
(a) caused

_J:b}’ﬂcause

| (c), was caused
i (d) had causing

26. We often go fishing the river bank.
| (a) toward
(b) inside

along

| (d) with

| 27. The shop at 9 o'clock every morning,
' (a) open .
(c) 1s opening
(d) opened

28, The idiom “cut comers” means
(a) To cut the corner of a drawing

(6) When Eﬂm:cihmg is dune badly to save money
| ~ (c) Totakeona task that is'way too big

[P.T.0.
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@, “Cycling is fun.” What is eyeling in the sentence?
(a) Infinitive
(b) Gerund
_d&Terfect participle
(d) Adjective

30.  Which of the following is incaerrectly spelt?
(a) receive
87 difraud
(c) believe
(d) deceive

31. A four digit number abed is divisible by 11 if only
_ (@) (a+b)—(c+d)is divisible by 11
'r' .Y =8 — ()i bl b ]
-' (c) (a—c)—(b—d)is divisible by 11
(d) (b+d)—(a+c)is divisible by 11

EL _._—.4-__ —

32, (18x3 + 48x2 +32x) +(3x+ 4} is equal “.]
6x2 + B
(b) 2x{4x+3)
"(e) 9xZ+4x
(d) None of these

Maximum interior angle possible f-::-r areg aigp%ﬁ% q\\&‘t /

(a) 30° m ;
) 60° o/ -f‘

Vilay

(c) 70° A7
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The area of a trapezium”shaped field is 480 m’, the distance between two

34.
arallel sides is 15 m and one of the parallel side is 2{] m. Find the other

P

parallel side |
\ e

H:‘ s \]NSKﬂ;’t::“*“’t’f15 ﬁ;ﬁ/
(¢) 54m _ﬁ "‘* /\ﬂ/

(d) 64m
35. An aquarium is in the form of a -:ub-n_i::l whose external measures are
80 cm * 30 cm % 40 cm. The base, 51 tand back face are 1o be covered
with a cnluur?dﬁpa_pﬂ'r The aréa of the -::::lnurf::d paper re i .4 ¢
(a) 3200 cm’ 1 u0 /%%,
2 [ oul —
(b). 4600 cm] 2{%0 IﬁjCUI, Eﬁb &
(¢ 7500 cm . 7{‘ Y1t NS | ]
LT o) L 1.5
3 1
36. A rectangular piece of paper 11 -:1;1 « 4 ¢m is folded without overlapping to
malke a cylinder of hmght 4 cmn. The volume of the cylinder so formed is

\ (a) 9.6cm f_ﬁ

: 3 ). 3 o .
y.i L:m3 g /’ﬁdl/ @ 27 YQqFJ?lL'
38.5 cm ,ﬁ ~ %H//“'/,{ ) =
'\ ; (d) 154 li-l'l'i? W % ﬁ'-fj? l!I.-—-—'
37. Express 4 asapower with the base 2 ﬁj/ﬂ ;‘lZ _.ll—r-}{. W
| (8) 2 | , ,{i}/q /’]/
® 2 % ACLESS
.-._2_5 " &5, ———”gﬁf

(@ 2 Y g .
W
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o -2
(@) 16 | R
(€ 1 | r_j____
(d) None of the above 7

39.  If the weight of 12 sheets of thick paper is 40 grams, how many sheets of the
same paper wnuld wmght Erln kilograms?

0o = f“@’

(a) 450 :g“f\gﬁo Lt /\/\;f;;)( };{

~ (b) 550 £
(c) ' 650 /,.{;5’
M 15 5

40. A machinery worth Rs 10500 depreciated by 5%. Its value afler one year will

" be .
(a) Rs , ,:;}i;'" ?c !{;f@‘/y
Q975 *"ﬁ;’? “} f;-
(c) Rs 9000 | /"-)”fi:f
(dy Rs9750 \ i
41. The coordinates of a point lying on y-axis arc :] r] g
(a) 0,0) *[j
© 60 b D},k 5 J‘%ﬂ
@ (x, ) . 1 c?g g’
&
:1 'HEIHS _ L | 10
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42.  Find the value of m when +2 =5 i &S < ;:(;
5 : -~
'Té 1"(5' -""'"'%FFC' .. ¥

ﬁ”/z _gﬂ&ﬁ_.:‘g /wfﬁa%‘

(b) 4 A
(c) 6 5

| e ; IW’H
@ 8 / 1-—";" @

43. Two coins are tossed simultaneously. What is probability of getting one
head and one tail?

!'-'.E;: P
.

' y
1 | y
: Ky X
(b) T g 2
© 2
@ 3

If the points (1,3), (-1, 3), (2, 3:.], [—d&; 3) and (8, 3) arc joined together, then the
resulting line will be P

Wﬁl to x-axis ' r_;"_,/'d""_'_-’/
i o = | - -._._._._._.'_._-._

| (b) parallel to y-axis = Lt
{c) parallel to both x and y-axis
(d) passing through the origin

::1 jj -' (—(5_% i_ﬂ £

) 1:2 Y —q

45. IfA:B=3:4andB:C=5:6,thend:Cis jg/(
&

|8

.

[P.T.O.
11

Scanned by CamScanner



6

47,

- - o™
Pythagorean riplet in which one member is 12 is o &
{ﬂ] 1::32135 ,f'l_“"l.'lrm "ﬂ:’r]f"‘

()12, 35,37 | o
(c) 12,36, 38 e LA

- {d) 12,37,39

A shupkéeper_pufchased 200 bulbs for Rs 10 each. However, 5 1_::ulbs Wwere
fused and had to be thrown away. The remaining bulbs were sold at Rs 12
each. The gain or loss % 1s

(a) 10% | q ,
by 13% - /
(€) 15% 3 "1’1

17 % ki

Facforisation of (2a=b)* +2(2a—5)—8 would be
(ay (a—b+4)(2a+b-12)

e
) (a—2b+2)(2a+b—-4) W

() (2a—b+4) (2a—b-12)
@ Qa+b-4)(2a-b+2)

) -—x, then value of x is
& .
; | = /_,//

A
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s0.  If twomedians of a triangle are congruent, the tnaugle is
an equilateral triangle

fb] an isosceles triangle Tie e -
(c) anobtuse angled triangle
(d) ascalene triangle

ordinate
(b} abscissa

(c) quadrant
(d) origin

/@ In a triangle, centroid always divides medians in the ratio of
(a) 2:1 i

Pk o5t
' (c) 4:1
_'_ (@ 5:1 e ﬂgﬁ”\k ﬂw)’r\

53. If(ﬁ-l?.—@wlhlzm then 4x equals to o
(a) 0 |

by 41
=8 (c) 1%
.i .I . fd] 5.

51, Gj@hg/guint at which two co-ordinate axis meet is called

. 54, Apit5mlong and 3. 5 m wide is dug to a certain depth. If the volume of Earth
taken out of it is 14 m’, what is the depth of the pit?

(a) 80cm. WM 2T
. () 8m ,‘5:“.?{'(5'5-}(% T st
g (c) 83dm ‘IrL';:ﬁﬂ - M
@ 80 mm ,,,'/ﬁﬁ LY
A 13 ik,
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\ 5, The difference between two whole numbers is 66, The ratio of the two numbers

] 1 2:5. What are the two numbers? ; S/" .
| - @ 22,100 N85

-\! ) 22,110 . E“E}"' e FiH =

5 (© 44,100 - ,ziiﬂ:’ g

J l! § (d) 44, 110 '

36.  Six pipes are required to fill a tank in ] hour 20 minutes. How long will it take

to fill the tank if only 5 pipes of the same type are used?
(a) 1 hour 16 minutes

G
5 "GP | Gt
(b) 1 hour and 26 minutes G\I = ’% " il %’ﬁf
| ,@} I hour 36 minutes c};— _ 1{3’%$5 ‘:jlé/?
] ] (d) 2 hours 36 minutes ’ g
' &

57T, /—%‘,v

Two times a number is a 100 % increase in the number. If we lake half the
number what would be the decrease in per cent?

r o Aa)- 180 %
(b) 75% '
Me) 0 Ya
d) 25%

The product of two rational numbers is _3—2;3 If one of them is —Tz’ then the

other number is
(a) 14/17

®) 1327 ' F—T:@—'YC A :%
@ 14/27

- Y
(d) 11728 = BT ‘i v
_ A F
Pl
NCNS 14
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59. Se
O profit of 25 % after allowing a discount of 2

price should he mark the items?

.'A

b1.

AR (&) Scem
- @ em

A trader buys certain items at 32 % off the list price and he wang ¢ make 3

(a) 4.15%
(b) 5.25%
(e} 6.15%
(d) 6.25%

0 %. At what per cent abgye the Tist
. o e -

. N
Shyam deposited in a bank Rs 7500 fEII‘. 6 months at the rate of 8 % interest
compounded quarterly. Find the amount he received after 6 months. 1
(a) Rs 6800 N el flr,ﬁ, n¢
() Rs 6803 b ﬂﬁﬁﬁyﬁm 150 ‘ﬁf

Rs 7800 |** % T
(d Rs7803

Ram buys a refrigerator for Rs 4000 on credit, The rate of interest for the first
year is 5 % and the second year is 15 %. How much will it cost him if he pays , = ~

the amount aftm.' two years? Ft' @Q-?( T )
(a) Rs 3830 /ﬁ%’)
(b) Rs4830 lg-n

() Rs 35830

(d) . Rs 6830

a2}
PO N0

Three cubes of sides 3 cm, 4 ¢m, and 5 cm are melted and a new cube is

formed. Find the side of the new cube

(a) 3em
(b) 4cm
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The median and the mean of the data given below are 3.
2 5574238371

-

(a) 5.5and 4.5

sk ™
o
() 45and4s [ILLLAN

(¢) 5.5and4.6 W'
(d) 4.5and4.6

18

Present ages of Kuldeep and Asad are in the ratio 5:8 . Five years ago this ratio
was 4:7 . After 10 years, the ages of Kuldeep and Asad will be

(a) 10 years, 14 years gﬁ;,?éﬂﬁ* f.(\'zb
(b) 15 years, 28 years W 2 ’F“;L'
(¢) 30 years, 48 years Hﬁp\-y) s -
(d) 35 years, 50 years SEOAL o ‘. —:i;rh d 5"‘"
65. Inthe following data, the mode is
53953280999765532763839
(a) 5. : s L faiaied
b) 9 i ¢ E Zlfji-" GF‘E-,.- §, 5.5, 31@;} ..-'L g
200 50 %ﬁ]ﬂ‘? J g oo R ?:‘ T
Wy :
66. Distance covered by a man walking for 12 minutes at a speed of 3.5 km per
hour is
(a) L.7km ‘
(b) 0.07km s ' ﬁj’ o7 N;}Et
(c) 0.7 km L e e /‘7'/%:‘5
(d) 1.07 km Lﬁkl’ L
' i 11')—“" '?;_ e
m % "’1
S
NCNS 16
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crops are usually sown with the beginning of the first rains in July
during the south-west monsoon season.

(a) Rabi
Kharif
(c) Mansal
(d) None of these

67.

All living cells and many of the tiny organelles internal to cells are bounded by
thin membranes. These membranes are composed primarily of

' _tay phospholipids

(b) amino acid

(c) gelatin
(d) carbohydrates T .l

69. The number of nuclei present in zygote is //
(a) =zero
(b) one
_lgy~two
(d) three

@) Insulin is a hormone produced by the that allows your body to use
sugar (glucose) from carbohydrates in the food that you cat for energy or 10
store glucose for future use. '

(a) liver

pancreas
(c) kidney
(d) brain -

i

The human skeleton is composed of around bones at birth.
(a) 210 '

(b)) 270

[p_T.ﬂ.
17
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. i i ' ixture of
- Liquefied petroleum gas (LPG or LF gas) used in Indian homes IS @ mix

(a) methane and ethane
H __(by—propane and butane

(¢) methane and butane

(d) ethane and butane

73. MNon-metal oxides such as ..H.tld are responsible for acid rain.

(a) sulphur oxide and hydrogen peroxide
Mﬁhm dioxide and nitrogen oxide

(c) .carbon monoxide and nitrogen oxide

(d) carbon monoxide and hydrogen peroxide

74. __ isa group of living organisms consisting of similar individuals capable
of exchanging genes or interbreeding.
(a) Family
ﬁlﬁpﬁcieﬁ
(¢) Genus
(d) Order

175. are tiny particles in the air that reduce visibility and cause the air to
‘appear hazy when levels are elevated.

(8) PMLS
(b) PM2.5

p'(,{:.}--*’]"Mlﬁ

(d) PM4.5

76. In eukaryotes, all the spacé inside the cell membrane but outside the nucleus is
the gel-like

(a) xylem
(b) enzyme

 fey—Tytoplasm

(d) phloem sap
NCNS

18
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77.  The small spherical body inside the nucleus is called
(a) mitochondria .

(b) chromatin

M nucleolus

(d) chromosome

78.  Which of the following is part of female reproductive system?
(a) Testes

Wms
(¢) Scrotum
(d) Prostate

79.  Velocity of the sound is greatest in
—fay—Thetallic solid
(b) liquid
(c) gas
(dy wvacuum

B0, Which of the following is the best conductor of electricity?
(a) gold :

by —sitver
(¢} copper
(d) palladium

o 81. The cells in the retina of the human eye function best in relatively bright

light. _

P.T.O.
19 :
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| . '@‘ Which of the following metal is not extracted by electrolysis?

(a) Aluminium
i M
Loy __{(c)—Sadium

(d) Potassium

83.  Louis Pasteur and Emile Roux developed the first___ vaccine.
(a) smallpox '
_{5y~Tabies
(c) AIDS
(d) tuberculosis

Kanhia Nationa! Park is located if

(a) Andhra Pradesh
_ (b) Gujarat |
_tey—"Madhya Pradesh

(d) Rajasthan

all vertebrates including humans?

(a) Estrogen .
ﬂ{h}f’"[h}rmxinﬂ

{¢) Prolactin

(d) Glucagon

@ Which of the following hormone is essential for the growth and development of

(=

86. is a process by which nitrogen in the Earih's atmosphere s
converted into ammonia (NH;) or other molecules available tg
organisms. |
(a) Fermentation

by Nitrogen fixation

(c) Nitrosis fixation

(d) Fhotosynthesis

living

NCNS 20
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87, Polyester is a category of polymers that is made up of repeating units
- of
(a) Ethane

le;,:r],.-'ﬁster
(c) Ethanol _
(d) Pantene

hE. When we press the bulb of a dropper with its nozzle kept in distilled water, air
in the dropper is seen to escape in the form of bubbles. Once we release the
pressure on the bulb, distilled water gets filled in the dropper. The rise in

. dropper is due to

(a) gravity of the earth

__(by—special property of the rubber of the bulb and distilled water
(c) atmospheric pressure
(d) none of these

89.  The image formed by a plane mirror is always
(a) virtual, upright, and of smaller shape and size as the object it is reflecting.
(b) real, upright, and of larger shape and size as the object it is reflecting.

| /[C}"‘Vﬁﬂ, upright, and of same shape and size as the object it is reflecting.
(d) real, upright, and of same shape and size as the object it is reflecting.

90. ° Which of the ﬁ:nllﬁwjng has the highest calorific value and may be considered
as the best fuel but is highly inflammable and difficult to store and transport?
(a) Methane :

/m{}rdmgen

i (©'.ONG
.. (@ LPG

[P.T.0.
21
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91.  The pressure produced when a force of 50 N is applied over an area of 10 m” is

@) zéwmﬂ

9
(b) 3%]‘44’1112 {

Qs

@ sin/m?

_S-r"

92.  The pressure exerted by a fluid
(a) de-m:nses with depth
{b}, mcmascs with depth

Ms not change with depth

(d) depends upon the liquid

23, Ball bearings are used to
(a) increase friction
,ﬁ{bj"ﬂecre.asa friction
(c) keep friction constant
(d) none of these

94.  When electrolysis of water is carried out, water is decomposed into
(a) oxygen gas only

(b) hydrogen gas only
oth hydrogen and oxygen

(d) oxygen gas and copper

' A podt at ground level below which an earth .
quake originat ca
M:{ gmnates is called

picentre

richter
(1:} fault
(d) wvolcano

NCNS
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g6. A kaleidoscope consists of three mirn::rs- set at an .angle of to form
multiple images of the object in fronfaf it.

(a) 30 degrees
(b) 45 degrees

W[} degrees

; {d} 90 degrees

Which of the following is primarily used in preparation of smoke screens?
(a) oxygen |

(b) copper |
(c) nitrogen

Mﬂﬂphnms

An instrument used to measure the pressure of liquids at different depths is
_?’Emumetﬁ:r
) a manometer
(¢) ahygrometer

(d) ananemometer

99.  Loudness of sound is determined by
(a) time period.

amplitude of vibrating body
(¢) frequency of the vibrating body
(d) none of these

100, T!w ulmmc,al resistance of a circuit is defined as

P.T.O.
23 [
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e whfr 7
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£ )
AF (o)

£ @

e YUyl -8

A o(a)
=4 (b)
F (c)
A (d)

|'1 . | W N el L,l'lfﬂ_-f/f 4)
ST (b) A (a)
C) mfu“ (c)

e UGy i 53 30
e (o) te#  (a)

S ) eSF  (c)

P.T.O.
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